}’1—:3%-41 = 2
- & 31UT+ 99 i) 9
(f)\ ) 2' B _]

Xux C-U)ear(6)e D (1) gnfns)
= C (L) *D%[{m)




nga) Forfsedie s

e L)t Dempb) s ¢ =g
X > 2@@({>{®%/g): |




->(V\1L‘6XL\{(+8)Q\:71/\ /\fd‘:)(/ :3

X, = C 472"

Portrbalory %\AVV
Prove, ! ' “gredt |
P W -
X, = An +0
P P :
Xingy ~6%  tOxF = Alne)+1 —64@\*/)'5@ + 94+
= YAn-44 +1B = U




42.90) dorkelid
Ol M
X‘,\: X‘,{A + )(I/LP

= (Y D2+ dutY

)sz( :3

X,=1= CtD+qd &> D=+l
x = 3=At2D+7 Ewep = 2

C =-| D= O

Xn= (D)4 "+ 4 3, +9







4,115 p-Z
O Gservorer- :

Hewr (e o guersgy, -1 o ngyahiryg
MM o Gy 0 o ey xi,

“PY
O P =
14-1‘0
)ﬂl b~ /:O
b ) =T |+ T
i N ?




L{IH pP->

Z % s \t V' -5
bne [ p (217,
a 2
Medion. i
Ut@y\: I‘Fl
~ 2 .5 -
ek i + I(SIVE)
C(l\‘l/?>+b(/_[/f):§/ '
CBHF)vn (3-7)< ¢ iy
I-T » 2¢+2p =2
2 D=1l-¢
S dele an 0 T og f,
P (2¢-1) =3
S (=3Pl . WS _VE
=) CEIO W*L— r P (3-&
e
= _\@I_QM/?): Vi HI/?'A
on T ()
RW:M’”‘DMGJ MWW
s l-C = |- 1S V'
D=1-¢ - tﬁmé 1. WS
xh-EQfm(u_ﬁfz)“_g{/w
i %G 4L L T AT
_ E M’w?,* I’VFH
F ey




)((,.,_“: 1106’(4 _,(Lol)kcL &:/0

St At R UK Gty (ho2)'a

o logx,

b Gi— o M% s %/f%
)(vw-( - /’Oéx‘t -(//(Z)L]”L
G) Ve[% o it ad
T Hovs oo Loy

Xneo =1, 06 K = 0 =)

x:‘ = (I,O6>h C

WL&/!«/% U~ e(ﬂ’j-

mo 060 4=y oL TN




Ygo 20

WY Xgy =0 = QO—MGQ (l,oe)%o+ 261(1,0)\)%

g9 o 0
15, ((Lo6) -mzf) = /OKU,M)%

Z (/,oe)6

B (Q106>€O”(/,oz>90> = DY 9E

O

DV b ok 430 :
Ot :




